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QUESTION 1

How do you reduce the scheduled duration of internally-processed activities if the time period within which the activities
are to be scheduled is not long enough to process all activities? Please choose the correct answer.

A. Milestones

B. Capacity breech
C. Reduction

D. Scheduling breech

Correct Answer: C

QUESTION 2

When using networks and activities, planned costs are automatically calculated based on the resource requirements
identified for which of the following? There are 2 correct answers to this question.

A. Operations
B. Tasks

C. WBS

D. Activities

Correct Answer: AD

QUESTION 3

Which of the following decides whether networks can be header assigned or activity-assigned? There are
2 correct answers to this question.

Response:

A. Order type

B. Plant

C. Billing type

D. Network structure

Correct Answer: AB

QUESTION 4
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Which of the following aids in calculating actual overheads based on the costing sheet and overhead key
entered?

There are 3 correct answers to this question.

A. Network header

B. Assignment

C. Network activity

D. WBS element

Correct Answer: BCD

QUESTION 5

In bottom-up time scheduling scenario the differences between the earliest and latest dates of an activity
are referred to as? Please choose the correct answer.

Response:

A. Deviations

B. Time gaps

C. Floats

D. High priority

Correct Answer: C
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